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206 | 20 |+kmezt| 1 | 113/3/4(-) | 12:40 13:00 13:06 TRIEH = (ITIUAIE2F)
201| 23 || 2 | 113/3/4(-) | 12:40 13:03 13:09 TRIEH = (ITHUAIE2F)
208 13 |z = 3 | 113/3/4(-) | 12:40 13:06 13:12 TRIEH = (ITHUAIE2F)
205| 20 [a4ss:| 4 | 118/3/4(- )| 12:40 13:09 13:15 TRIEH = (ITHUAIE2F)
207 | 26 | @A | 5 | 113/3/4(-) | 12:40 13:12 13:18 TRIEH = (ITHUAIE2F)
211 | 4 |m 4% | 6 | 113/3/4(-) | 12:40 13:15 13:21 TRIEH = (ITHUAIE2F)
210| 10 | 3uE| 7 | 113/3/4(- ) | 12:40 13:18 13:24 TRIEH = (ITHUAIE2F)
208 | 22 [m=x #| 8 | 113/3/4(-) | 12:40 13:21 13:27 TRIEH = (1THUAIE2F)
206 | 26 |# 4| 9 | 113/3/4(- ) | 12:40 13:24 13:30 TRIEH = (ITHUAIE2F)
204 | 18 | 48| 10 | 113/3/4(-) | 12:40 13:27 13:33 TREEH = (ITHUAIE2F)
201 | 6 |z-iwp| 11| 113/3/4(-) | 12:40 13:30 13:36 TRIEH = (1THUAIE2F)
202 | 12 [#E | 12| 113/3/4(-) | 12:40 13:33 13:39 TRIEH = (ITHUAIE2F)
202 11 | & [ 13| 113/3/4(-) | 12:40 13:36 13:42 TREEH = (ITHUAIE2F)
210| 3 |4 zem| 14 | 113/3/4(- ) | 12:40 13:39 13:45 TRIEH = (1THUAIE2F)
203| 25 | ¥ w5 | 15 | 113/3/4(-) | 12:40 13:42 13:48 TRIEH = (ITHUAIE2F)
203| 4 |[m# & 16 | 113/3/4(- )| 12:40 13:45 13:51 TREEH = (ITHUAIE2F)
211 12 [ % & | 17 | 113/3/4(- ) | 12:40 13:48 13:54 TRIEH = (1THUAIE2F)
209 | 12 [ma5e| 18 | 113/3/4(- ) | 12:40 13:51 13:57 TREEH = (ITHUAIE2F)
205 | 24 | 4| 19 | 113/3/4(- ) | 12:40 13:54 14:00 TREEH = (ITHUAIE2F)
207 | 25 [gne < | 20 | 113/3/4(-) | 12:40 13:57 14:03 TREEH = (ITHUAIE2F)
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105| 2 |Z ous| 1 | 113/3/4(-) | 12:40 14:09 14:15 TRIEH = (ITHUAIE2F)
106 | 25 |4 =4 | 2 | 113/3/4(-) | 12:40 14:12 14:18 TRISH = (ITHUAIE2F)
103 | 30 |s4g 2| 3 | 113/3/4(- ) | 12:40 14:15 14:21 TRISH = (ITHUAIE2F)
111 | 15 |ggi#¥| 4 | 113/3/4(-) | 12:40 14:18 14:24 TRIEH = (ITHUAIE2F)
104 | 11 |ssekzk| 5 | 118/3/4(-) | 12:40 14:21 14:27 TREBHZE (1TBUKIB2F)
103 | 23 |4 %/ 6 | 113/3/4(-) | 12:40 14:24 14:30 TRIEH = (ITHUAIE2F)
108 | 11 | Z#| 7 | 113/3/4(-) | 12:40 14:27 14:33 TRIEH = (ITHUAIE2F)
112 22 |#=x 4| 8 | 113/3/4(- ) | 12:40 14:30 14:36 TRIEH = (ITHUAIE2F)
102 | 18 [ && | 9 | 113/3/4(- ) | 12:40 14:33 14:39 TRIEH = (ITHUAIE2F)
105 | 27 |5 % % 10 | 113/3/4(- ) | 12:40 14:36 14:42 TRIEH = (ITHUAIE2F)
102 | 25 |#oeg | 11| 118/3/4(-) | 12:40 14:39 14:45 TRIEH = (ITHUAIE2F)
106 | 12 |% & % | 12 | 113/3/4(- ) | 12:40 14:42 14:48 TRIEH = (ITHUAIE2F)
109 1 |x3F &/ 13| 113/3/4(-) | 12:40 14:45 14:51 TRIEH = (ITHUAIE2F)
107 | 24 |3 48| 14 | 113/3/4(- ) | 12:40 14:48 14:54 TRIEH = (ITHUAIE2F)
104 | 28 | % 4z4%| 15 | 113/3/4(- ) | 12:40 14:51 14:57 TRIEH = (ITHUAIE2F)
101 | 26 | #3255 16 | 113/3/4(- ) | 12:40 14:54 15:00 TRISH = (1T HUKIEF)
112 7 |*s& & 17| 113/3/4(- ) | 12:40 14:57 15:03 TRISH = (1T HUKIEF)
113 | 24 |44+ | 18 | 113/3/4(- ) | 12:40 15:00 15:06 TRIEEH = (1THUAIE2F)
108 | 9 | | 19| 113/3/4(-) | 12:40 15:03 15:09 TRISH = (1T HUKIEF)
114 | 3 [Zju%k| 20 | 113/3/4(-) | 12:40 15:06 15:12 TRISH = (1T HUKIEF)
110 | 21 | peta| 21 | 113/3/4(- ) | 12:40 15:09 15:15 TRISH = (1T HUKIEF)




